
Teleprinter (Baudot-Murray) Code

Bletchley park
Binary code Mark/space notation Letter Shift mode Figure Shift mode

notation
����������������������������������������������������������������������������������

00000 - - - - - NUL NUL /
00001 - - - - X T 5 T
00010 - - - X - CR CR 3
00011 - - - X X O 9 O
00100 - - X - - word space word space 9
00101 - - X - X H # (£) H
00110 - - X X - N , (comma) N
00111 - - X X X M . (full stop) M
01000 - X - - - LF LF 4
01001 - X - - X L ) L
01010 - X - X - R 4 R
01011 - X - X X G @ G
01100 - X X - - I 8 I
01101 - X X - X P 0 P
01110 - X X X - C : C
01111 - X X X X V = V
10000 X - - - - E 3 E
10001 X - - - X Z + Z
10010 X - - X - D WRU (who are you?) D
10011 X - - X X B ? B
10100 X - X - - S ’ (apostrophe) S
10101 X - X - X Y 6 Y
10110 X - X X - F % F
10111 X - X X X X / X
11000 X X - - - A – (dash) A
11001 X X - - X W 2 W
11010 X X - X - J BEL J
11011 X X - X X Figure Shift (none) + or 5
11100 X X X - - U 7 U
11101 X X X - X Q 1 Q
11110 X X X X - K ( K
11111 X X X X X (none) Letter Shift - or 8��
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